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& 9,188,000
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= 17,650,000
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= 100,000
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= 20,000
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= 400,000
= 100,000
01 A& 490,000 0 490,000
Osagt=a X s s 490,000
= 395,000
= 95,000
03 Al& SO 10,000 0 10,000
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203 R =8| 5,000 5,000 0
03 AIHFRHRF=ZEY| 5,000 5,000 0
OXgEgd2 46 5,000
207 A FIoHE| 400,000 0 400,000
01 A2ESH| 400,000 0 400,000
OS2 8HJIS2HE AR EZ S| 400,000
401 AlEHIZE20UI 35,000,000 18,500,000 16,500,000
01 Al&H| 33,200,000 18,129,000 15,071,000
PNR=J=PN =S 18,200,000
CI2009E MR 2 E2 15,000,000
02 Zcldl 1,500,000 200,000 1,300,000
X2 AP 22l H] 1,500,000
03 Al&20HYI 300,000 171,000 129,000
ORI EASE 20| 300,000
ANSE=EX 24 503,000 675,000 A 172,000
202 (4l 3,000 15,000 A 12,000
01 =2l 3,000 15,000 A 12,000
OM=2E2 X2 el 3,000
401 AlEHI Y20 500,000 660,000 A 160,000
01 Al&H| 500,000 660,000 A 160,000
OXSEXE2 A0 500,000
CZ2ZNSETAL 56,178 61,178 25,000
101 ol 24| 56,178 56,178 0
04 JIZHMZ2ZAsSE s 56,178 56,178 0
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201 LEt2HH| 34,400 35,400 21,000
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BEELT 9,000
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Ogxia 4,000
OFHIYXE 4,000
=2LH0i I 30,000 33,000 A3,000
202 O] 30,000 33,000 23,000
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